CSR initiatives of Vadodara Division

1. Vadodara Division on Western Railway caters to the traffic needs of lakhs of passengers of all segments of Society everyday through its major stations like Vadodara. Bharuch, Ankleshwar, Anand, Nadiad, Godhra etc. Railways have identified various activities, which can be undertaken under CSR relating to environmental sustainability, sanitation/cleanliness of stations and certain passenger amenities at Railway stations as per Railway Board's guidelines issued vide letter No. 2015/EnHM/06/06 dt: 03.02.2016.

A list of various activities that can be taken up under CSR are detailed below:

We look towards your support for undertaking works through CSR funds at stations over Vadodara Division.

- 2. Railway Board's guidelines issued vide letter No.2015/EnHM/06/06 dt: 03.02.2016 are already provided on main page. May kindly refer.
- 3. Details of Nodal Officer

Name :- Shri. A. K. Singh

Designation :- Add. Divisional Railway Manager

Contact No. :- Landline No.:-(0265)2641414

Mobile No.:- 9724091001

4. Works that can be taken up by Corporate under their CSR activities:

Sr. No.	Description of Work	Category	Location (Full Name of station),District	Approximate Cost
1.	Provision of Solar	NSG2	Vadodara	15 Lacs
	System of 30 KWP	NSG3	Ankleshwar,Bharuch,Anand,Nadiad	60 Lacs
	1KWP = 50,000	NSG4	Kim, Kosamba, Mahemdabad & Kheda	60Lacs
	$50 \times 30 = 1,50,0000$		Rd., Miyagam Karjan	
		NSG5	Godhra, Palej, Vishvamitri, Derol,	90 Lacs
			Khambat,Petlad	
			Total	225 Lacs
2.	Wet & Dry Dustbins	NSG2	At all stations	2100 x 4000 =
	and Ecofriendly	to	14 x 60 No. = 840 No.	84 Lacs
	Dustbins	NSG6	63 x 20 No. = 1260 No.	
			840+1260 = 2100 No.	
			Total	84 Lacs
3.	Provision of sewage	NSG2	Vadodara	83 Lacs
	treatment plant	NSG3	Ankleshwar,Bharuch,Anand & Nadiad	$60 \times 4 = 240$
				Lacs
		NSG4	Kim, Kosamba, Miyagam Karjan,	$50 \times 4 = 200$
			Mahemdabad & Kheda Road	Lacs
		NSG5	Godhra, Palej, Vishvamitri, Derol,	$50 \times 6 = 300$
			Khambat,Petlad	Lacs
			Total	823 Lacs
4.	Rain Water	NSG2	Vadodara	19 Lacs
	Harvesting	NSG3	Ankleshwar,Bharuch,Anand & Nadiad	4 x 11 Lacs = 44
				Lacs
		NSG4	Kim, Kosamba, Miyagam Karjan,	4 x 9 Lacs = 36
			Mahemdabad & Kheda Road	Lacs
		NSG5	Godhra, Palej, Vishvamitri, Derol,	6 x 11 Lacs = 66
			Khambat,Petlad	Lacs
			Total	165 Lacs
5.	Solid Waste	NSG3	Ankleshwar,Bharuch,Anand & Nadiad	32 Lacs x 4 =
	Management		Total	128 Lacs
6.	Provision of	NSG2	Vadodara[PF-2/3, 4/5, 6] – [3 Nos]	3 Crore
	Escalators	NSG3	Ankleshwar[PF-1,2/3,4] – [3 Nos]	3 Crore
	55 + 45 = 1 Crore.		Bharuch[PF-1,2/3,4/5] - [3 Nos]	3 Crore
			Anand[PF-1,2/3,4] - [3 Nos]	3 Crore
			Nadiad[PF-1,2/3] – [2 Nos]	2 Crore
		NSG4	KIM[PF-1,2] – [2 Nos]	2 Crore
			Kosamba[PF-1,2] – [2 Nos]	2 Crore
			Mahemdabad & Kheda	4 Crore
			Road[1/,2,3/4,Circulating Area][4 Nos]	
			Miyagam Karjan [1,2, Circulating Area] – [3 Nos]	3 Crore
		NSG5	Godhra[PF-1,2/3] - [2 Nos]	2 Crore
			Total - 27 x 1 Crore	27 Crore

7.	Lifts	NSG3	Ankleshwar[PF-1,2/3,4] - [3 Nos]	165 Lacs
	37 + 18 = 55 Lacs		Bharuch[PF-1,2/3,4/5] - [3 Nos]	165 Lacs
			Nadiad[PF-1,2/3] - [2 Nos]	110 Lacs
		NSG4	KIM[PF-1,2] – [2 Nos]	110 Lacs
			Kosamba[PF-1,2] – [2 Nos]	110 Lacs
			Mahemdabad & Kheda	165 Lacs
			Road[1/2,3/4,Circulating Area]- [3 Nos]	
			Miyagam Karjan[1,2/3,Circulating	165 Lacs
			Area(East)] – [3 Nos]	
		NSG5	Godhra[PF-1,2/3] - [2]	110 Lacs
			Total - 20 x 55 = 1100	1100 Lacs
8.	Battery Operated Car	NSG3	Ankleshwar[PF-1]	8.34 Lacs
	[with O&M for three		Anand[PF-1]	8.34 Lacs
	years]		Nadiad[PF-1]	8.34 Lacs
		NSG4	KIM[PF-1]	8.53 Lacs
		NSG5	Godhra[PF-1]	8.34 Lacs
			Total	41.89 Lacs
9.	Provision of water	NSG3	Ankleshwar,Bharuch,Anand & Nadiad	4 x 50000=2
	Coolers.			Lacs
	[02 per PF]	NSG4	Kim, Kosamba, Miyagam Karjan,	6 x 50000 = 3
			Mahemdabad & Kheda Road	Lacs
		NSG5	Godhra, Palej, Vishvamitri, Derol,	6 x 50000 = 3
			Khambat,Petlad	Lacs
			Total	8 Lacs
10.	Plantation &	NSG2	All stations	5 Nos x 10 Lacs
	Maintenance	to		= 50 Lacs
		NSG6		73 Nos x 7 Lacs
				= 511 Lacs
11.	Wall Garden	NSG2	All stations	
		to		
		NSG6		
12.	Digital Wall	NSG2	All stations –	587.4 Lacs
		to	1 x 8 = 8 [86"] @ 6.60 Lacs – 52.8 Lac	
		NSG6	4 x 2 = 8 [86"] @ 6.60 Lacs – 52.8 Lac	
			73 x 1 = 73 [86"] @ 6.60 Lacs – 481.8 L	
			acs	
13.	Herbal Garden	NSG2	All stations	80 Lacs
		to	14 x 171000=2394000	
		NSG6	63 x 90000=5670000	
	0 1 27 110			2001
14.	Station Upliftment	NSG2	All stations	202 Lacs
	such as Air cooling	to	$1 = 50 \text{ T } \times 40000 = 20 \text{ Lacs}$	
		NSG6	14 = 10 T x 40000 = 4 Lacs x 14 = 56 Lacs	
			63 = 5 T x 40000 = 2 x 63 = 126	
4 =	D	NGGO	Lacs	4 = 6 1
15.	Renovation of	NSG2	All stations	156 Lacs
	passenger interface	to	2 Lacs/ Station L.S	
	areas	NSG6		

NOTE:

- A. Projects to be undertaken are:
- ❖ Plastic Bottle Crusher machines to meet the NGT Guidelines.
- EMR [Emergency Medical room] Facility at station to provide immediate medical help to the passenger.
- **&** Bed sheets and Face towels in the trains.
- Looking to the present scenario of COVID-19, ventilators, PPE (Personal Protection Equipment)Kit, masks and sanitizers.
- Provision of Ambulance at station.

B. Suggestions can be included in the CSR Activities are:

- Solar Mobile charging kiosk at stations.
- Misting Fans (Indoor / Outdoor)
- ❖ Aid to physically challenged such as (hearing aid, wheelchairs).
- Digital non contact thermometer.
- Sanitary Napkin Vending machines and Incinerator in the waiting rooms.
- Set of Bed sheets and face Towel in trains.
- First Aid Station/Kits.
- ❖ Decorative items such as plants, paintings, sculptures etc.
- **&** Baggage Scanner Machine.
- Metal detector machine.
- Full Body scanner machine at stations.
- Segway Patrolling Machine at station.

5. WORKS EXECUTED THROUGH CSR

As per Railway Board's recent guidelines issued vide letter No. 2015/EnHM/06/06 dated: 03.02.2016, the works identified and executed under CSR are as follows:

(As on 11.03.2020)

Sr.No.	Name of	Brief Description	Reference	Status
	Party			
1	M/s CONCOR	Provision of (20	EDPG/MR's Note dated:	Completed
	Ltd.	nos) of Water	07.05.15 with Jt. Secy (GAZ)	
		Coolers with filters	Railway Board's letter No.	
		at all platforms at	2015/Secy/Misc dated:	
		Vadodara at an	07.05.15 and No.2015/TG -	
		estimated cost of	IV/10/PA/151 dtd: 21.05.2015.	
		Rs. 14.73 Lac.	ED/EnHM(Civil Engg) railway	
			Board's letter No.	
			2015/EnHM/06/06 dated:	
			03.02.2016	

2	M/s CONCOR Ltd.	Provision of Wet/Dry Dustbins.(214 Nos.) at an estimated cost of Rs. 7.49 lacs	, 3,	Completed
3	M/s CONCOR Ltd.	Provision of LED luminaries at an estimated cost of Rs. 61.17 lacs	ED/EnHM(Civil Engg) railway Board's letter No. 2015/EnHM/06/06 dated: 03.02.2016	Completed
4	IRCTC (Assessed Funds)	01 Namma Toilet at BRCP	Railway Board's letter No. 2015/EnHM/06/06 dated: 03.02.2016	Completed
5	M/s GACL – Ranoli (Assessed Funds)	at BRCP		Completed
6	ONGC – Vadodara (Assessed Funds)	02 Nos Battery Operated Cars at BRCP		Completed
7	ONGC – Vadodara	02 Plastic Bottle Crusher Machines		Completed
8	ONGC – AKV	01 Namma Toilet each at BH and AKV		Completed
9	Adani Foundation (Assessed Funds)	Modular Toilet Blocks at BH		Completed
10	Bankers Cardiology Pvt. Ltd. (Assessed Funds)	01 AED Machine at BRCP		Completed
11	ONGC AKV	01 Plastic Bottle Crusher Machine at KIM and KSB		Completed
12	ONGC – BRCP	Sanitary Napkin Vending Machine and Incinerator machine at BRCP		Completed
13	Rotary Club of BH Femina - BH	01 Plastic Bottle Crusher machine at AKV		Completed

14	Birla Century – BH	01 Plastic Bottle Crusher Machine at		Completed
15	Inner Wheel Club – Anand	BH and AKV Sanitary Napkin Vending Machine and Incinerator machine at ANND.		Completed
16	IOCL – Gujarat Refinery, Vadodara	Vertical Garden at BRCP		Completed
17	GAIL – Vadodara	Bio – Degradable [W & D] – Dustbins provided at BH & AKV – 25 Pair each, Total – 50 Pairs.		Installed
18	ISAGRO – Asisa, Panoli	Bio – Degradable [W & D] – Dustbins provided at BH & AKV – 30 Pair each and PAO – 20 pairs, Total – 80 Pairs.	Railway Board's letter No. 2015/EnHM/06/06 dated: 03.02.2016	Installed
19	HINDALCO – Aditya Birla	RO Plant with water cooler at BH Railway Station.		Installed

06.06.2020